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The Chain Rule

Find the derivative of the function
1) f(x) (3x“—3)(x5+2)6
3) f(x)=(x+5)
5) f(x)= J+4ax
7) h(x) =(3x2 +2x+1)5
9 f(x) =3 -9

f (x)=sin7x
f(x):sinsg—:
f(x)=2cos’ (x*+1)
f (x)=xsin®x

f (0)=3sin’40

f (x) =sin® xcosx

f (w)=cos’w

h(x) =sin(1+ x?)

h(x) = 3sin*(x) +

1
(x+2)?
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f(x)=(x +3x* ~2x+3)
f(x)=(1rxex)
f(x)=(7x* +2x2 ~8x~1)"
h(x) =cos”*(x)

h(x) = (4x® +3x% +6)

f (x)=2cos(x* +1)

f () =cos®30

f ()= (Lrsinx)

f (u)=sin5vu
f(5)=cos(s°)

f (6)=5cos’(36°)

f () =sin (tan3x)

X+2

h(x) = (cos?(x) +1)

h(x) = (x* +cos(x)) +sin?(x)
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